
Calculators Allowed
1.B 2. B 3. B 4. A 5. B 

6. C 7. 375,000 ft.2 8. .321 rad/sec.

9. -5.890 cm3/hr. 10. -1.014 m/s

No Calculators
1. D 2. C 3. E 4. A

5. a. (1,3) b. -3



6. a. x = -2 because f ′ goes from pos. to neg.

b. x = 4 because f ′ goes from neg. to pos.

c. -1 <  x < 1 and 3 < x < 5 because f ¢is incr.

7. a. horiz. tan at              and               , both local 
min. because f ′ goes from neg. to pos.

b. concave up for all x 0 because f " > 0

c. below, because graph is concave up

2x = 2x = −

≠



8. f twice-diff.  f continuous  IVT applies

f (2) < 0 <  f (4)  f (c) = 0 on interval

9. a. x = 1 and x = 3 because slope of  f changes
signs

b. x = 4 because  f  decreases a lot from x = 0 to
x = 4, and only increases a little after x = 4.

c. y – 30 = 16(x – 5)
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